522FK5220

MONORACK SPECIFICO - SPECIFIC MONORACK 5
MONORACK SPECIFIQUE - SPEZIFISCHES MONORACK - MONORACK ESPECIFICO

SUZUKI GSF600/1200 2000
BANDIT

ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS
INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - ISTRUCCIONES DE MONTAJE

~\

VITE TBEI M8x60

\
@ (9 @
Y,

~ @ R

VITE TCEI M8x35

SCREW M8x60 SCREW M8x35
SCHRAsa gIC“SHAI?ED%jE- 8x35
SCHRAUBE M8x60 M8x.
MONORACK TORNILLO M8x60 TORNILLO M8x35
@." n.2(Dx-Sx)) \_ Q-TY n.2 J U Q.TY n.2 _J

( @ N\
v 003

( @ N

( @ N\

gAsCTEARNZIALE D22x6 RONDELLA @8 g%lfﬂPONENTI
ENTRETOISE WASHER @8 ORIGINAL PARTS
DISTANZSTUECK RONDELLE @8 ORIGINAL BAUTEILE
DISTANCIADOR SCHEIBE &8 PARTIES ORIGINALES
ARANDELA @8 COMPONENTES
ORIGINALES
\_ Q-II n.2 ra " Q.II n.2 J L Q.II n.- Y,

w s ﬁ -

|

)'(

@

PARTICOLARI INCLUSI NEL
KIT VITERIA DELLA PIASTRA
COMPONENTS INCLUDED IN]|
THE FITTING KIT OF THE PLATH|
PIECES INCLUES DANS LE KIT|
DE VIS DE LA PLATINE

DIE EINZELNEN TEILE SIND BE
MONTAGEKIT DER PLATTE

ERHALTEN

PIEZAS INCLUIDAS EN EL KIT
DE ANCLAJE DE LA PLETINA

\ Q.TY n.- )

© Copyright 04112002MV-Rev02, 'I/J




